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101 21218| 183,684 169,802 13,882
01 22 170, 156 156,684 13,472
O A28l 2249 =02 (9 739) 170, 156 156,684 13,472
o NG A= 9,297,000 9,297 5,762 3,535
o 53 2 6,202,000 6,292 5,878 414
o 62 2= 18,780,000 18,780 17,456 1,324
o 73( A 32,958,240 32,959 35,794 N2,835
o 83( 2= 10,878,000 10,878 10,023 855
o 93( AR 5,900,000 5,900 5,394 506
o X& 2= 28,718,000 28,718 25,744 2,974
o XE 2= 52,160,000 52, 160 45,846 6,314
o o7 AE 5,172,000 5,172 4,787 385




SH: s

M3 WERYAY (=LBUD)
el ol 2| (25 &2
SN EB -GS - MBAY - BES 0 & 24 01 o HRE2
02 JIEFR 24 8,117 7,966 151
O BEYALAN ARG 2REZ(ZY 10,
£ 25) A 2,477,002 2,477 2,3%6 151
03 RIHA22RE 4 5,411 5,152 259
O A 224+g =3E 5,411 5,152 259
o HaELe 2T 2,405,000 2,405 2,200 115
o FAEeIR AT 1,414,0002 1,414 1,347 67
o sgonsH Y 2 1,502,0002 1,502 1,515 77
plCE-T 285,967 286,007 A40
2 285,967 286,007 A4
203 HRFY| 10,500 10,540 A0
02 HRAIAYRETY| 3,000 3,040 A40
O SIHH(ZY 762 — 758)
23 3,000,0009 3,000 3,040 A40
WPES (SN 137,847 0 137,847
SENE 137,847 0 137,847
SEIE 137,847 0 137,847
802 Bret20IEt 137,847 0 137,847
NIEREEETTEE 50,356 0 50,356
O 2010HE AABH NZHAY ASTY
4,610,940%! * 14! 4,611 0 4,611
O 2000HE 2B N2H SHXES Hatz
AYE Er o 989,008 * 14} 989 0 989
O 2010HE S0{P0 AR0F YFH| AFSTY
4,750,0002 * 1Al 4,750 0 4,750
O 20108E HASHHIES ASEY
1,786,000 * 1A 1,786 0 1,786
O 2010HE BASEHNEZ ALVl AIS
&y 140,008 * 14! 140 0 140
O 2010HE ASY=AXNEZ ASTY
1,405,000 * 14! 1,405 0 1,405
O 201025 EAZAXNAXNFNSAY ASE
o 73,0008 * 14 73 0 73
O 2010HE =HIXS SUHHNRAY ABEN
6,555,000& = 14 6,555 0 6,555
O 2010HE M2LRAS & 2| ASE
oy 29,220,0002! * 14! 29,220 0 29,220
O 2010HE MILRASO & HEH ASE
oy 58,0002 * 14! 58 0 58
O 2010 AIZR0l HIHXIO0IE SS5tA
A& Er o 769,008 * 14 769 0 769
02 Al- CHEZSUE2 87,491 0 87,491
O 2010HE S0{Q0 AR0F YFH| AFSTY
1,426,000 * 1Al 1,426 0 1,426
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